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o 2/50)Z/487Z ~MIBHIAH
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o (r,,s,,t )=(487,1,0)
o (r,,s,,t )=(5,0,1)
o (rz,sz, ) =(487,1,0)-97(5,0,1) = (2, 1,-97)
O (r S, ) (5,0,1)-2(2,1,-97) = (1, -2, 195)
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o EEA(487,3) &Y. .487TZEETHIDHTTE
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o (r,,s,,t,)=1(487,1,0)
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o (r,,s,,t )=(487,1,0)-162(3,0,1)=(1, 1,-162)
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o (r,,s,,t,)=(487,1,0)

(rl,sl,t) (15,0,1)
o (r,,s,,t )=(487,1,0)-32(15,0,1)=(7, 1, -32)
o (r,, s t):(15, 0,1)-2(7,1,-32)=(1,-2,65)
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0 1=(-2)x487+65x15
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® nb,r',tr €7
e 0=bHb<n0=r"<nt*>0
o EEA(n,b)={(r,s,,t)}, i € [0.A+]1]
o j€{0,...,M1}kr, = r* Fimf-9 &/ Dindex
o r:=r, s:=s, U=t
J J j
e dr,s,t EZst.r=ns+bt,|n|=r0<|t| =t
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ZDEE . RHBYILD:

1. O<|t|=t
2. n>2r't*= 3 gz0 € Zs4t.

r=r'g, s=s'q, t=t’q
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Algorithm (Rational reconstruction)

o AJ:
o z=s/t(1) M (BIR) /MEAFREE b (2)
o M
o t=MZEmTI=9 MIZTHL, 10F>2 M? = t 1=
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Algorithm (Rational reconstruction)

1. n€10; b« Lnb J;

2. EEA(n, D) ={(r,,s;, t W&t B L. r, <M Ziml-J &
IND j e RED;

3. S’esj; t’e—tj;

4. returns’/t’;
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e n<«10%=100;

e b« Lnbl=1100%0.2857141=128.5714 ] =28;

o EEA(100,28) % r <M=7ZH-FETHET S

)
o (r,,S,,t,)= (lOO 1,0)
(r.,s,,t )=(28,0,1)
0 (r2,52,t2) (100,1,0) -3 (28,0, 1)=(16, 1, -3)
o (r,,s,,t,)=(28,0,1)-1(16,1,-3) = (12, -1, 4)
o (r,,S,,t,)=(16,1,-3) - 1(12,-1,4) = (4,2, -7)
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o EEA(100,28)%&r <M=T Ziml-9E£THHETS
o (r,,s,,t,)=(16,1,-3)-1(12,-1,4) = (4,2, -7)
o CZCTr,=4<7=MZi#EIDTHERT

o KoTr=s,/(-t,)=2/T
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